
 

Part 2 

Can you subtract from numbers up to 50? You have 5 minutes to answer as many questions as you can. If you get 45 or 

more you can move on to the next challenge. 

30 - 3 = 27 - 14 = 44 - 5 = 30 - 6 = 28 - 5 = 25 - 6 = 22 - 8 = 37 - 22 = 45 - 15 =  32 - 11 = 

26 - 6 = 19 - 7 =  33 - 8 = 38 - 12 = 49 - 14 = 46 - 23 = 36 - 7 = 24 - 12 = 34 - 15 = 39 - 20 = 

23 - 5 = 38 - 14 = 43 - 12 = 15 - 12 = 32 - 13 = 50 - 40 =  24 - 14 = 43 - 17 = 34 - 21 = 47 - 24 = 

29 - 8 = 26 - 11 = 12 - 5 = 48 - 18 = 50 - 19 = 38 - 10 = 43 - 0 = 18 - 11 = 49 - 39 = 31 - 13 = 

34 - 13 = 19 - 12 = 15 - 15 = 36 - 13 = 42 - 6 = 45 - 34 = 37 - 4 = 37 - 12 = 34 - 10 = 28 - 19 = 

How many did I get right?       I need to repeat / try the next level 

 


